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Solution 1 by Marian Ursdrescu — Romania

First, we will prove A,, = 1!- 3! ... (2n — 1)! (1) by mathematical induction.
For P(2):A, = |i 223| = 6 true.
Let P(n) true and we will prove P(n + 1)
1 2 n X
letf=| L 2 vomx
12n+1 22041 ., p2n+l 420+

f € R[x] and grad f = 2n + 1and have 0,+1, %2, ..., =n roots =
f(x) = azpir(x — x1)(x — x3) ... (x — X2511) =
f(x) =113 2n— 1) x(x* —1)(x? — 22) - (x> —n?) >
Apq =113 (2n—1)!(2n + 1)! = P(n + 1) true.
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From (2)+(3)= Q = 0.
Solution 2 by Remus Florin Stanca — Romania
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